
ECG 1A Correction des exercices Septembre 2023

Exercice 4 Simplifier les expressions suivantes :

1. A =
(−18)7 × 24 × (−50)3

(−25)4 × (−4)5 × (−27)2
= −

97 × 27 × 24 × 23 × 253

254 × 210 × 32 × 92
= −

95 × 24

25× 9
= −

94 × 24

25
= −

104976

25
;

2. B =
1− (−2)2

1− (−2)3
=

1− 4

1− (−8)
=

−3

9
= −

1

3

3. C =
1−

(

1

2

)3

1− 1

2

=
1− 1

8

1

2

=
7

8
× 2 =

7

4

4. D =
1−

(

−
1

2

)4

1−
(

−
1

2

)3
=

1− 1

16

1−
(

−
1

8

) =
15

16

9

8

=
15

16
×

8

9
=

5× 3× 8

8× 2× 3× 3
=

5

6

1


